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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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G3-4

BfiE) | GEBIETK (D) | EME (EH/AR) | XK SRR

06:40 57 30.0 5| THE@06:40 REFEF (KFEAERE)
07:40 57 30.0 FA| FnHR@07:40 KHEFEF (KREAERES)
09:35 57 30.0 FA| FnHA@09:35 AFFEF (KAERE)
10:55 57 30.0 FA{ FhHR@10:55 KRHMIEHF CRALESR)
12:05 57 30.0 FA| FnHR@12:05 KEiEF (REAERES)
13:10 57 30.0 FA| FnHR@13:10 RFFEF (KAERKE)
14:20 57 30.0 FA| FhHR@14:20 RHFIEHF (RAKZESR)
15:40 57 30.0 FR| FHA@15:40 KREFZF (KRAAEES)
=it| 456.0 (8%) 240.0 JZ3EREC: 2254.0, PH: 6.5

FERGERIPH (10.29) 5i&FEPH (6.5) REK K, AT
FEREPH (10.29) 5FPH (6.5) REKK, AT

REREMEC (1966.0) 5iEEC (2373.0) REKK, FEE
FEREBEEC (1966.0) 5FMEC (2458.0) REK K, HHEE

kP

S




G3-4_0, Day=10 (2025-05-22)
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G3-4

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

06:35 53 30.0 FA| 1BRi%@06:35 B3h (FKA{EREEE)
07:00 53 30.0 |Z=| {Ri%e07:00 Bz (REAEZEHE)
07:25 53 30.0 (Z=| {Ri%@07:25 Bz (FRAMERSE)
08:50 53 30.0 [Z=| {RiBe08:50 Bzl (KAFEHE)
10:20 53 30.0 |Z=| {Ri%e10:20 Bz (REAZBE)
11:40 53 30.0 (Z=| 1Rige11:40 Bz (RAMERSE)
13:00 53 30.0 5| 1Rike13:00 B (KREAERES)
14:10 53 30.0 =l Rige14:10 B3 (GRAERSE)
15:20 53 30.0 =l RiB015:20 Bz (REAKEE)
21 477.0 (9%) 270.0 32 3KEC: 2337.0, PH: 6.5

EREBRIERLL TR K (0.64 vs 0.58)), AIREE ZREIENREEIRK

ZRIASERRIERE29. 0 ml.

unusual large postFgEt from yesterday (105), set to 90.0 ml.

REFREBIPH (10.23) 5i8%EPH (6.5) RER K, HRE
FEXREIPH (10.23) 5FMPH (6.5) REKK, FHRE

FEREEC (2174.00 5FMEC (2692.0) REK K, HHRE

EGERPH (10.2) 5i8EE (6.5) REKK, FHE.

ERGEEBPH (10.2) S5&RAGEWY (6.5) RERK, HRE.




G3-4_0, Day=9 (2025-05-21)
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G3-4

BfiE) | BRI (D) | EE (EH/AR) | XK R

06:05 88 30.0 = {RRiB006:05 B (FRFAEEE)
06:30 88 30.0 = {RRiB006:30 Bz (RAKEE)
06:55 88 30.0 = {Ri%e06:55 B (RFAEDSE)
08:40 88 30.0 = BRiB008:40 B (FRFAEEE)
10:00 88 30.0 =l RRi80@10:00 Bz (REAEEE)
11:20 88 30.0 =l Rige11:20 B3 (RAERSE)
12:50 88 30.0 F BRige12:50 Bz (GRAERSE)
14:00 88 30.0 (=] {RiZe14:00 Bz (GRAFZEHSE)
=i+ 704.0 (8%) 240.0 3 UHKEC: 2435.0, PH: 6.5

FORGEBRRTHC R IR IR 1Y (80 vs 56.0))
EXIASEPRIERE43. 0 ml.

REXFEBPH (10.34) 5i&%EPH (6.5) RERK, FHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
ERGEBIPH (10.3) 5iREME (6.5 RERK, BHRE.

EORGEBPH (10.3) SRRAEWY (6.5) RERK, FRE.




G3-4_0, Day=8 (2025-05-20)
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G3-4

BYE) | GEBERTIC (B)) | EBME (EAH/#) | XS R

06:15 80 30.0 BH| 1{Ri%@06:15 Fzf (RAERHKE)
06:40 80 30.0 FA| 1BRi%@06:40 F3h (FKABIEREE)
07:05 80 30.0 FA| 1BRi&@07:05 F3) (KRAFEREE)
07:40 80 30.0 FA| 1Ri%@07:40 Fz1 (REAERE)
09:00 80 30.0 |Z=| 1{Ri%@09:00 Fz (KREEZEHSE)
10:05 80 30.0 |Z=| {Ri%e10:05 Fz1 (REZBE)
11:10 80 30.0 E Rige11:10 Fzh (GREERSE)
12:25 80 30.0 S| {Ri%e12:25 Fz (RAEHSE)
13:35 80 30.0 = {RRiB@13:35 Fz (RFAKEE)
14:55 80 30.0 E| {Rig014:55 Fzh (GREERSE)
15:55 80 30.0 El 1BRi&e15:55 Fzh CGRAEREE)
21+ 880.0 (11%) 330.0 3 IHFKEC: 2850.0, PH: 6.5

ERGEBRT R IZIREL Y (80 vs 56.0))

PRIALPRIERL43.0 ml.

unusual large postFgEt from yesterday (95), set to 90.0 ml.
RERSEIPH (10.34) 5i&EPH (6.5 REKK, BHHRE
REXFEBIPH (10.34) 5FMPH (6.5) RERK, FHRE
ERGEBIEC (2450.0) SHEEEN (2850.0) RERK, BHWE.
LRGEBPH (10.4) 5igEE (6.5 REKK, BHRE.
LERGEBIPH (10.4) S5iREEY (6.5) RERK, HRE.
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G3-4

BYE) | GEBERTIC (B)) | EBE (BEAH/#) | XS R

06:15 54 30.0 5| 1RiRe06:15 Fz (KRFEAEES)
06:40 54 30.0 5| 1Ri&e06:40 Fz (KREAEHS)
07:05 54 30.0 | 1Ri&e07:05 Fz (KAL)
08:10 54 30.0 (Z=| 1Ri%@08:10 Fz1 (KRFAEZSE)
09:35 54 30.0 (Z=| 1Rig@09:35 Fz (KRAMEHSE)
10:55 54 30.0 [Z=| {RiZe10:55 Fz (RAFZEHSE)
12:10 54 30.0 E| {Rige12:10 Fzh (GREERSE)
13:30 54 30.0 (Z=| 1Ri%@13:30 Fz (FAMEHSE)
14:40 54 30.0 |Z=| {Ri%e14:40 Fz1 (REEZBE)
16:05 54 30.0 (Z=| 1Ri%@16:05 Fz (KAMEHSE)
2it[540.0 (100%) 300.0 3203 KEC: 3000.0, PH: 6.3

LOREBRTC R IR AN (120 vs 56.0))

EXIASEPRIEHE65. 0 ml.

REFRGEMIPH (10.34) 5i&%EPH (6.5) RERK, BHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
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G3-4_0, Day=6 (2025-05-18)
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